Aluminum Pull

UAF FIWZEHF

L1

mE A L1

UAF-20-100 20 100
UAF-20-112 20 112
UAF-20-117 20 117
UAF-20-120 20 120
UAF-20-128 20 128
UAF-20-160 20 160
UAF-20-180 20 180
UAF-20-200 20 200
UAF-20-235 20 235
UAF-26-112 26 112
UAF-26-117 26 117
UAF-26-120 26 120
UAF-26-125 26 125
UAF-26-128 26 128
UAF-26-160 26 160
UAF-26-179 26 179
UAF-26-192 26 192
UAF-26-300 26 300
UAF-26-400 26 400
UAF-26-500 26 500

*1: NDFCEATIHEHECT.

T IYU—Vki$ - JU— AR = Pooox
BEVELELREEV

N NBK SBMENATvIRMH

49
49
49
49
51
51
51
51
51
55
55
55
55
55
57
57
57
57
57
57

T
s
e
h L Lf
36 113 10
36 125 10
36 130 10
36 133 10
38 141 10
38 173 10
38 193 10
38 213 10
38 248 10
38 129 12
38 134 12
38 137 12
38 142 12
38 145 12
40 177 12
40 196 12
40 209 12
40 317 12
40 417 12
40 517 12

0575-23-1162

® EXWDIFi&(F. 100mm - 500mm DI A RNUI -3,
® BHFDKXEFE. 20mm - 26mm D 2FEXEN' BV ET
o BRI DD HIPTVEIRTY,

o RANEDONUI—Y3VIF5EE, RBORRELSICEY

BIRTEXT,

KRESLS

AL
BL
BK
SG
RD

REWE
7L A ML
NUIVERE
PR (R)
BRI (VL)1)
BEBE (LK)

® [UAF-20-120][UAF-20-180][UAF-20-235] (. 191~

FSYIICBUIETETT
® FFYav T DIFHDNATUTERILS(SUSXM7 H)
ZRBLET . RUMBY —ER (BlflE) ZZFALEE L,

Mé
M6
M6
Mé
M6
M6
Mé
M6
M6
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8
M8

/ L—HZIEN = P.xxxx

HrEmE"
(N)
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000
1000

TR - Bl E

info@nbk1560.com

HE(g)

84

96
100
103
106
126
139
168
200
157
166
170
176
178
209
234
242
345
440
538

B mm

RUMBT—ER
(el Ry
M6X%12
M6X12
M6X12
M6X%12
M6X12
M6X12
M6X%12
M6X12
M6X12
M8X%12
M8X12
M8X12
M8X%12
M8X12
M8X12
M8X%12
M8X12
M8X%12
M8X%12
M8X12

https://www.nbk1560.com

o &t EIF
UAF-AL
FILVEZOLESR
wiE PLRANLE
RETUERIL LS

(ALEY—ER)

N NBK @z r7yoau

0575-23-1162

-
.
0 RoHS
UAF-BL UAF-BK / UAF-SG / UAF-RD
FLE=OLES FLI=OLES
RUILBE BERE (58)
SUSXM7 SUSXM7

o BEIET i - MBENBKITT YA RETEL T,

UAF-20-100-AL
| —

UAF-20-100-AL-P
\ \ —

LR

H—E'R
RUREY—LR (BIEE) 2CHADEE . BREB0RRIC[P] =8N
LTLIEEW,

info@nbk1560.com https://www.nbk1560.com



